4 3 - 2 ' 1
CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 7 CIXLT & == / 27GA 1. 75" THICK MINOR RIB 1 OF 4 : ; -
3718 7 CIX18 7 -- 7 5708 1. 95 THICK ELUSH REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3750 7 C7X20 / 240U 7/ 27GA 2+ THICK MINOR RIB OPTIONAL GLAZING MAY BE STANDARD (DSB OR 01 - 3/7/14 = SH CORRECTED TYPO ON ELEVATION VIEW.
8722 7 BQNB2 f = / 20GA 2" THICK FLUSH BETTER) OR IMPACT RESISTANT GLAZING. MAXIMUM
3724 7/ C7X24 / 244U  / 24GA 2* THICK MINOR RIB GLAZING SIZE (DLO) IS 22"x9-7/8". SEE SECTION
B—B ON SHEET 2 FOR DETAILS.
GLAZING MAY BE INSTALLED IN TOP SECTION (NOT
SHOWN) OR INTERMEDIATE SECTION (SHOWN).
(1) 20 GA. GALV. STEEL BACKER PLATE AT
EACH INTERMEDIATE HINGE LOCATION. 16 GA. DOUBLE END STILE
BACKER PLATE ATTACHED WITH DOUBLE SIDED
ACRYLIC ADHESIVE TO BACK OF DOOR. T—STRUTS SHOWN WITH
GLAZING IN TOP SECTION.
‘ V4 - & V4
& V4 & &
° + ee , ,/éé‘ 1 1
[+0]
P M M \M vV M M M
e =€ 7 w7 7 7 __/\ VIEW "B"
55 G ———VIEW "C
o=
=8 % /\ i M\
g (1) 4" T—STRUT PER SECTION. y v y
o x 1
o
% | \
LOCK POSITION (BOTH SIDES).
\ L
S T—STRUT.
— T A N\_ (2) LHR TOP BRACKETS USED
MAX. DOOR WIDTH = 16'-2" AS INNER BOTTOM BRACKET.
#14x5/8" SHEET METAL SCREWS INSIDE_ELEVATIONS
THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR
. THE ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING
DOOR HEIGHT ‘A’ NUMBER OF #14x5/8" SHEET METAL SCREWS TO THE FLORIDA BUILDING CODE OR THE INTERNATIONAL
SECTIONS BUILDING CODE (BASED ON ASCE7-05) FOR THE
UP TO 8-0" 4 FOLLOWING CONDITIONS: 1) ENCLOSED BUILDING, 2)
8'-3" THRU 10°-0" 5 DOOR HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3}
10°=3" THRU 12'-0" 6 ROOF SLOPE <10°, AND 4) TESTING IN ACCORDANCE
' P u riiAe WITH ANSI/DASMA 108. SITE-SPECIFIC CALCULATIONS BY
15'-3- mgg ig,"g_ ; A QUALIFIED DESIGN PROFESSIONAL MAY DIFFER.
. - 1/4"x3/4" SELF
16’-3" THRU 18’'-0" 9 TﬁPPTNé SCREELWS WIND SPEED (MPH) 140 145 160
14V|c;ev. END HINGES 14 GA. (MIN.)VIKI-ZP‘:I\‘TE”E";:I\ﬂEDIATE HINGE EXPOSURE CATEGORY B, C B, C i
MEAN ROOF HEIGHT 23’ 15° 30"
SNAP LATCH ENGAGES
ONTO VERTICAL TRACK. END
ONE SNAP LATCH ON STILE.
SLIDE BOLT LOCK EACH SIDE OF DOOR. MANUFACTURING PRODUCT CODE
END Ve, (i DESIGN LOADS: +37.0 P.S.F. & —42.0 P.S.F Sntlall i alich
o . Ao -— . S i
STILE. e O EE TEST LOADS: 455.5 P.S.F. & -63.0 P.S.F. PART NO.: N/A
EACH SIDE OF OUTSIDE NDLE. LOCK BAR Unless Staoted Otherwise - nl 8585 Duﬁe Boulevard WINDLOAD RATING
DOOR. KEYED AL ENCAGES IN | TOLERANCES o« |gumUslOPAY 1% %500 [\ /¢ DP 37T
3/ HANDLE. STILE. EACH SIDE 0 = +.031 |Buiing Products Company Fox No. 513-770-4853
/ / 7 i OF DOOR. 633 = :gég DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 16'2"W (SEE TABLE)
INSIDE_SLIDE_BOLT INSIDE HANDLE 000 = %. : s ,
DESIGN ENGINEER LOCK_OPTION. OUTSIDE_KEYED LOCK WITH OUTSIDE_KEYED LOCK WITH 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
: TAry BAD | ACKING D = /T : :
SRR TESTERRELD Pk D TN, K_BAR LOCKING. o Otherw{s * [CHECKED BY: SH DATE: 1/10/13 |SHEET 1 OF 4 |SIZE
FLORIDA P.E. #48425 NG P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104801 - A/B VER: TOI



4 3 & 2 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 7 C7x17 v —=  / 27GA 1.75" THICK MINOR RIB 2 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.[APPVD: DESCRIPTION
3718 / C7X18 7/ --  / 27GA 1. 75" THICK FLUSH . e LT T
3720 7/ C7X20 / 240U  / 27GA 2° THICK MINOR RIB L - . = & i :
3722/ COXe2 / --  / 20GA 2* THICK FLUSH
3724 / C7X24 / 244U  / 24GA 2* THICK MINOR RIB

IMPACT—RESISTANT CONSTRUCTION: STANDARMN ASSEMBLY CONSTRUCTION:

SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE OPTIONAL DSEQRR TEMPERED INSULATED GLAZING AVAILABLE.

IMPACT—RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISTS OF ALUMINUM e enTRE DOONNSSEMBLY INSTALLED IN COMPLIANGE WiTH THiS SgfION MEETS THE

FRONT FRANE anD SARIC P [BGN 3054, (ERSIONS (30 SHERENERE MBI i WIND LOAD REQUIRRNENTS OF THE FLORIDA BUILDING CODE OR INJ@ENATIONAL BUILDING

90318, 90316, 90317, 90311, 90314, 90355) OR BAYER MAKROLON GP (VERSIONS

ALSO APPROVED: SL. AR, 15), APPROVED CC1 PLASTICS IN ACCORDANCE WITH TDI/FBC CODE BUT DOES NOMWEET THE IMPACT RESISTANT REQUIREMEN JOR WINDBORNE DEBRIS
2606 AND APPROVED C1 PLASTICS IN ACCORDANCE WITH FBC 2612. REGIONS (REF. CHAPTEWNI6 FBC/TOI).

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT. SECTION B—B (N —IMPACT—RESI KNT GLAZING OP‘HON)

SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)

PANEL
INSULATED DOOR SECTION. THICKNESS D4 B HEAD
DECORATIVE FACADE.\ ‘ Y SCREW
:-=‘=:- 0
g 10) #8-18 x 1/2" !
EXTERIOR OF DOOR. SSEL)FfTAPPINxG S{CREWS. I e | ‘_
T NESS i
INTERIOR OF DOOR. ZES
OUTSIDE [ |
RETAINER. FRAME INSIDE
(12) #8-18 x 1/2" ALUMINUM FRAME. FRAME
SELF—TAPPING SCREWS.
1/4" THICK POLYCARBONATE
GLAZING.
IMPACT—RESISTANT ASSEMBLY DETAILS STANDARD ASSEMBLY DETAILS \
DRAWING 104801-A DRAWING 104801-B

MANUFACTURING PRODUCT CODE
C-DSIU-1D477

/
7 DESIGN LOADS: +37.0 P.S.F. & —42.0 PSF.
TEST LOADS: +55.5 P.S.F. & —-63.0 P.S.F. PART NO.: N/A

7 .?/ ‘/' Unless Stoted Otherwise | (D opay 3585 Dgsﬁeggfcl)ev@srg WINDLOAD RATING
' 2y TOLERANCES ore | (i Gl Tel, No. 513-770-4800
/ //:/ / / /)’ 0 = +.031 |Building Products Company Fox No. 513-770-4853 \/\/ 6 D P 3 7 T
/

00

e e :-g(‘)g DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 16'2"W (SEE TABLE)
0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = *1/2° [CHECKED BY: SH DATE: 1/10/13 |SHEET 2 OF 4 [SIZE
yfgfgg\:EngRyggaqspENc P.E. #23832, TEXAS P.E. #91513 %?r&%ﬁsﬁoﬁéeing“mﬁguss. DWG. NO.: 104801 - A/B VER: TOI
4 | 3 e 2 1



cLOPAY s IDEAL / HOLMES SHEET: REVISIONS
; . : ATE: ECN NO. | APPVD: DESCRIPTION
3718 / C7X18 / -~ / 27GA 1. 75" THICK FLUSH
37ee / COXxee /7 -- / 20GA 2 THICK FLUSH
724 / C7Xe4 & i
372 C7Xe24 7 244U / 24GA 2 THICK MINOR RIB L [‘1_3/4 THICK MIN.
HORIZONTAL (TOP) JAMB JAMB TO SUPPQORTING STRUCTURE ATTACHMENT g;mGAMT(AmGG-" 4'6"'%)NFXCT§LF3?RBE}IEEL_ON
] (NO LOAD FROM DOOR) ] NOTES: POLYESTER PAINTED TOP COAT APPLIED
>> 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO TO BOTH SIDES OF STEEL SKIN.
. . THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
\ TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +296 LB & -336 LB. PER LINEAR
- FOOT OF JAMB.
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED T COUNTERSUNK TO PROVIDE A
FASTENER FLUSH MOUNTING SURFACE. ( = 0 B} 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
/] LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY. SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
= BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
] BRACKET.
MAX. O.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, . i
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS —4 . SECTIONS ARE 1-3/4" THICK (MIN.) PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1—1/2" AND INSTALLED DIRECTLY ]_ VIEW "D EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
@ : THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK 47 TALL TAPER STRUT. MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH 4-1/4" 0.062" MIN. GALV. STEEL TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT 86 KS| MIN. ’ ! PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/— 2x6 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS. : ALONG THE WIDTH OF THE EXTERIOR PANELS.
7 TONGUE AND GROOVE JOINTS.
.
. . 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
TO END STILES W/(4) #14x5/8" SHEET METAL AND
' (2) 1/4"x3/4" SELF TAPPING SCREWS. (SEE VIEW "B")
ONE 4" T-STRUT PER SECTION. (SEE VIEW "D")
EACH T—STRUT ATTACHED AT EACH HINGE LOCATION
B WITH (2) 1/4"x3/4" SELF TAPPING SCREWS.
27 GA. (.016" MIN.) EXTERIOR STEEL
SKIN WITH G—40 MIN. GALV., BAKED—ON
POLYESTER PAINTED TOP COAT APPLIED
: TO BOTH SIDES OF STEEL SKIN.
P,
e 12 GA. GALV. STEEL BOTTOM BRACKET. _—
FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
NARIVION ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
—CENTER
smeo L SECTION A—A (SIDE VIEW)
BETWEEN _|WASHERS
BUILDING TYPE FASTENER TYPE FASTENERS*|REQUIRED?
HOLLOW BLOCK WALL ;4" x 1=1 ;4" MIN. EMBED ULTRACON CONCRETE ANCHOR 51 ;2" 1”_0.D.
GROUT FILLED BLOCK WALL [1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 9=1/4" 1"_0.D.
2000 PSI_MIN. CONCRETE /4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 8" 1" 0.D. PANUFACIURING RdUET ERDE
2000 PSI MIN. CONCRETE | 1/4" x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 6-3/4" ™ 0.0, C-DSIU-1D477
2000 PSI MIN. CONCRETE 3/8" x 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 17" INCLUDED DESIGN LOADS: +37.0 P.S.F. & —-42.0 P.SF. : n
A 4000 PSI_MIN. CONCRETE _|3/8" x 1-3/4" MIN, EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED |  TEST LOADS: +55.5 P.S.F. & —63.0 P.S.F. PART NO.: N/
2 sy PSR e S s S (O SR L3/ i W0 SRCEE e 00| [ e e 8 (3] G g g | VoD EaTiG
s . = X - - -U. ason,
W / 12CA STEEL (0.105" MIN.) |1/4"—14 x 1" ITW_BUILDEX TEKS SELF—DRILLING FASTENER 13-1/2" |1 O.D. TOLERANCES are & oPaAY 155%. 3137024800 \,\/ 6 D P 3 7 T
1/8" STEEL 1/4"—14 x 1" [TW BUILDEX TEKS SELF—DRILLING FASTENER 16" 1" 0.D. .0 = +.031  |Buiding Products Company Fox No. 513-770-4853
* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 0'33 = i'g(‘)g DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 16'2"W (SEE TABLE)
AT LEAST AS HIGH AS THE DOOR OPENING. : =i B ) : :
DESIGN ENGINEER: CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = +.001 |[ORAWN BY: SH DATE: 1/10/13 |SCALE: NTS DWG.
] MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2", EXCLUDING STUCCO THICKNESS. Degrees = +1/2° |CHECKED BY: SH DATE: 1/10/13 |SHEET 3 OF 4 |SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104801 - A/B VER: TDI

4

3 .



CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 7/ C7X17 / -- / 27GA 1. 75" THICK MINOR RIB 4 OF 4 [re
V. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
3718 L EIXI8 S == / 27GA 1. 75" THICK FLUSH
3720 /7 C7X20 / 240U  / 27GA 2* THICK MINOR RIB gl - - B S | SEE REWSIDN MIBTORY ON SHEET 'ONE
37e2¢e / COXee / -- / 206A 2 THICK FLUSH
3724 / C7X24 / 244U / 24GA 2 THICK MINOR RIB
D 2" TRACK CONFIGURATION HORIZONTAL TRACK
DOORS UP TO 800 LBS. SUPPORT BY DOOR
Sty SU'T)K{ DOOR AMB CONFIGURATION
NOTE DOUBLE TRACK DOOR COUNTERBALANCE SYSTEM " W J MOUNT JAM ONFIGURATION
HEADROOM, HI=LIFT TRACK, 7 : : : Hg',c"g, ;0“ DOORS UP TO 800 LBS. Al b MELLL
FOLLOW-THE— ROOF = YP JAMB (IF PRESENT;
TRACK, AND VERTICAL LIFT ; 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7'-0"| 76" BRACKET MOUNT JAMB CONFIGURATION §E§ ‘?AMB NOTE(S ON g?-lEET 3)
TRACK ARE AVAILABLE JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS 7 —6"| 82" & ’
OPT|ONS. AND TO TRACK W|TH (2) 1/4" RNETS. Bn_on 88.. 1 DOOR OVERLAP (EACH S|DE) =i ’_
=0 88_ OPTIONAL STOP MOULDING —~
TRACK CONFIGURATION & 86" 94 2x6 SYP WOOD JAMB, BY INSTALLER (TO SUIT). . 5
—  DOES NOT APFECT THE 5 AS RQD: SPACING NTE 14" 0.C 9= 1100, P REQ: (OB BRAGRES y | —16_GA GALV. STEEL DOUBLE-END-STILE ; 22‘553/%&&0‘ TA?/'rsHELgiME
WIND LOAD RATING. T 2. =598 MEARE. { FASTENED WITH (1) #8 X 1/2" WAFER SCREW. DISTANCES AS THE TRACK BOLTS
x T Iy " 3 = (LE. 3-1/2", 10", AND EVERY
g —2 g ). ALSO TW REW
8 $RA€?(LV;HISCEIEI{Z_S;EA§ g'?s" 11 -0 1124 2-1/2" X 12 GA GALV. STEEL \ESC)ATEELJSRBOVS oA
] : 0.075. 11°-6"1130" TRACK BRACKETS FASTENED TO HORIZONTAL TRACK JUNCTION.
e 12'-0"]136 WOOD JAMBS WITH 5/6" X 7/16" 1.0. ROUND
: gt A N o S e
w VERTICAL TRACK TO BE BRACKET 13 -0"1148" EXCEED 14" ON-CENTER. FASTENER. :
= MOUNT OR CONTINUOUS ANGLE 13'-6"]154" #14x5/8" SHEET METAL SCREWS.
C 2 (1-3/4"x2-1/4"x12 GA MIN.) 14'-0"[160" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
5 MOUNT. ALL BRACKETS/TRACK 14'—6"]166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
& CLIPS ARE 12 GA. GALV. STEEL. 15-0-172" 2" GALV. STEEL TRACK FASTENED TO
BRACKETS/CLIPS ARE ATTACHED 15—6"[178" 12 GA GALV STEEL TRACK BRACKETS . .
TO TRACK WITH EITHER TWO 1/4” 16'—0"[184" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
RIVETS OR ONE 1/4" BOLT AND 16'-6"]190" (1) 1/4" X 5/8" BOLT & NUT PER <
NUT. 17'—0"]196" TRACK BRACKET. SECTION C-=C - -
17°—6"1202" LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
18°—0"[208" PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO

3" TRACK CONFIGURATION
RS 0 AND OVER.

NOTE DOUBLE TRACK
HEADROOM, HI-LIFT TRACK,
FOLLOW-THE- ROOF

CENTER HANG REQUIRED FOR

| / DOORS OVER 8" HIGH.

JAMB CONFIGURATION
DOORS 800 LBS AND OVER.

TRACK. AND VERTICAL LIFT
TRACK ARE AVAILABLE
B OPTIONS.

TRACK CONFIGURATION
ABOVE THE DOOR OPENING

" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK

THICKNESS: 0.101". ANGLE THICKNESS: 0.080".
MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8".

DOES NOT AFFECT THE B o i B oo
WING: 000 RAUNG: VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING ¢ " 5_1/4" x 2-7/8" MIN. x 0.080" TAPERED > b
= JUNCTION, TWO 1/4" BOLTS [—— FROM LAST MOUNTING ANGLE. SEE LAG BOLT MOUNTING AT TRACK I
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION : BENFGURATION BEl G i 14 GA. GALV. STEEL CENTER HINGE
o - u LOW. ;6; g n}L;DT' ROUND FASTENED TO SECTION W/(4) EACH
= 14x5/8" SHEET METAL SCREWS.
2 g ADDITIONAL MOUNTING SLOTS FASTENER. RiSAS
S 8 SRARED AT 1" CENIERS: 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER '!-HNGES FASTENED TO END
I TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
b -12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
C:g 4 NUT AT EACH MOUNTING SLOT.
i 3" DIA. 8—1/2" LONG STEM BALL BEARING STEEL ROLLER.
o TION C— MANUFACTURING PRODUCT CODE
s 34" Sge'mﬁ;cmmkr BOLLT?NP? NUT AT EACH PREPARATION OF JAMBS BY OTHERS. C-DSIU-1D477
w
g B BHRGS 0 £ DESIGN LOADS: +37.0 P.S.F. & —42.0 P.S.F. S 0w
A . DOOR | VERTICAL TEST LOADS: +55.5 P.S.F. & —-63.0 P.S.F. A . N/
N / i HEIGHT |TRACK LENGTH Unless Stoted Otherwise | (D ﬂl 3585 Daﬁe4?8géeh€srg WINDLOAD RATING
77-0"[ 7 ason,
3/ e TOLERANCES - | qumUslOPAY 1% S50 |\ /¢ DP 37T
v </ /5/ 9'—0" | 96" 0 = +.031 Building Products Company Fox No. 513-770-4853
" o = ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 3 " e
10—07] 108 LR & - . S R R TO 16'2"W (SEE TABLE
‘0 127-0" 132" DISTANCES AS THE TRACK BOLTS (LE. 3-1/2°, 10", 22", 34" 000 = +.005 DESCBIRTION: _1—d/3 INTELLISORE DOORS U T [6i2W ¢ )
c 3-1/2" 14—0'] 156" 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN ENGINEER: = 16'-0'] 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2° 3 3 SIZE
Mo W b iy R 7= 204" VERTICAL /HORIZONTAL TRACK JUNCTION, Jcarees = *1/2  |CHECKED BY: SH DATE: 1/10/13 |SHEET 4 OF 4
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 18'-0"] 228 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104801 - A/B VER: TDI

2x6 SYP JAMB (IF PRESENT;

SEE JAMB NOTES ON SHEET 3). sz
HORIZONTAL TRACK W,
SUPPORT BY DOOR

1" DOOR OVERLAP (EACH SIDE) —| |—

ZONE B-3 SHEET 1.

DOUBLE HORIZONTAL
TRACK.

USED WITH "DOUBLE END STILE" AS SHOWN IN

TRACK
LOW HEADROOM OPTION
(AVAIL. FOR BOTH 2" AND 3" TRACK)

16 GA GALV. STEEL DOUBLE—END-STILE FASTENED
WITH (1) #8 X 1/2" WAFER SCREW.

| |

OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SuIT).

4

. 2



